. B—RAFNEREMN 3 EF > E—EAFFEHNEARRLKEATHNAEARES > BRAFNERMEIES
Rt EZ ) ?
A) 3:

(A) 3:4
(B) 9:1
(C)1:4
(D) 2:3

. AER2 -3x< 6 - SxMIBRAEBEMER a» 4x+ 3 2 3x— 7TMR/NEBEEE b Blab="7
(A) 10

(B)-10
(C)14
(D) -14

. BEI2™ =163 22432 =9"5 f:2m —5n =7

(A) 8
(B)0
(C) -1
(D) -8
. BXlabc+0°>FHFa=2b>b=2c’ E|Ja2+b2+cz =7
ab+bc+ac
(A) 1
3
(B) 5
(C) 2
5
(D)
. HBERy = ax + biBiA(1,2)8(-2,5) > BJILEARAEEH—RE ?
(A) BE—RR
(B) B_RR
(C) B=RIR
(D) EURFR
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6. BRIEZAEAE 150 JTil 270 FTTHIMRER: » H— 25 8 HEK: » EER 1920 7t > H—EiES
BB 270 JTTRYERE ?
(A) 31&
(B) 4 &
(C) 5 1E
(D) 6 &

7. HEalRb BEHEREUATAHARERX 2 +11x+19=(x+a)(x+b) > HAb x BEZ > 8
(a—b)2=7
(A) 42
(B) 43
(C) 44
(D) 45
8. HE—n8 > BRFR 1> HEMAPBAUZERERDBUA 20% ; EXERE 1 BEHOBERIBDE
N 20% ; ERFHOBER 10 B B FHREHER ?
(A) R EURD 2%
(B) R4 EUENN 2%
(C) R EURD 4%
(D) R4 08N 2%

0. %X’y%%%&ﬁﬁﬂxz+x+l=ﬁ5ﬂ:ly2—y+1=y_—+11’Skxz—xy+y2=?

10.BEXMx y zBEH > Bx—y|B+|x—2z® =1 K|x—y|+|x—z| +|y—z| = ?
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